
MEASUREMENTS
Approx 16 ins [40.5 cm] wide by 8 ins
[20.5 cm] tall, excluding handles.

MATERIALS
Patons Canadiana (100 g/3.5 oz)
OR
Patons Classic Merino Wool
(100 g/3.5 oz)
OR
Patons Decor (100 g/3.5 oz) 2 balls

Sizes 5 mm (U.S. 8) and 6.5 mm (U.S.
10½) knitting needles or size needed
to obtain tension. Pair of round purse
handles 8 ins [20.5 cm] in diameter.
Cable needle.

Sample made with 
Patons Canadiana #00104 (Aran)

TENSION: 13 sts and 17 rows = 4 ins
[10 cm] with larger needles and 2 strands
of yarn in stocking st.

INSTRUCTIONS
Panel Pat A (worked over 11 sts).
1st row: (RS). P1. T3F. T3B. T3F. P1.
2nd and alt rows: Knit the knit sts
and purl the purl sts as they appear.
3rd row: P2. C4B. P2. K2. P1.
5th row: P1. T3B. T3F. T3B. P1.
7th row: P1. K2. P2. C4F. P2.
8th row: As 2nd row.
These 8 rows form Panel Pat A.

Panel Pat B (worked over 8 sts).
1st row: (RS). K8.
2nd and alt rows: Knit the knit sts
and purl the purl sts as they appear.
3rd row: C4F. C4B.
5th row: As 1st row.
7th row: As 3rd row.
9th row: As 1st row.
11th row: C4B. C4F.
13th row: As 1st row.
15th row: As 11th row.
16th row: As 2nd row.
These 16 rows form Panel Pat B.

Panel Pat C (worked over 18 sts).
1st row: (RS). P1. K2. P3. K2. P2.
K2. P3. K2. P1.
2nd and alt rows: Knit all knit sts and
purl all purl sts as they appear.
3rd row: P1. T3F. P2. T3F. T3B. P2.
T3B. P1.
5th row: P2. T3F. P2. C4F. P2. T3B.
P2.
7th row: P3. (T3F. T3B) twice. P3.
9th row: P4. C4F. P2. C4F. P4.
11th row: P3. (T3B. T3F) twice. P3.
13th row: P2. T3B. P2. C4F. P2.
T3F. P2.
15th row: P1. T3B. P2. T3B. T3F.
P2. T3F. P1.
17th row: As 1st row.
19th row: As 3rd row.
21st row: P2. T3F. P2. C4B. P2.
T3B. P2.
23rd row: As 7th row.
25th row: P4. C4B. P2. C4B. P4.
27th row: As 11th row.
29th row: P2. T3B. P2. C4B. P2.
T3F. P2.
31st row: As 15th row.
32nd row: As 2nd row.
These 32 rows form Panel Pat C.

BAG
With smaller needles and 1 strand of
yarn, cast on 66 sts.
Beg with a knit row, work 14 rows in
stocking st.

Change to larger needles. Join 2nd
strand of yarn and proceed as follows:
1st row: (RS). K5. Work 1st row of
Panel Pat A. Work 1st row of Panel Pat
B. Work 1st row of Panel Pat C. Work
1st row of Panel Pat B. Work 1st row of
Panel Pat A. K5.

2nd row: K1. (P1. K1) twice. Work
2nd row of Panel Pat A. Work 2nd row
of Panel Pat B. Work 2nd row of Panel
Pat C. Work 2nd row of Panel Pat B.
Work 2nd row of Panel Pat A. (K1. P1)
twice. K1.
3rd row: K1. (P1. K1) twice. Work
3rd row of Panel Pat A. Work 3rd row
of Panel Pat B. Work 3rd row of Panel
Pat C. Work 3rd row of Panel Pat B.
Work 3rd row of Panel Pat A. (K1. P1)
twice. K1.
Last 2 rows form seed st pat at sides.
Panel Pats A, B and C are now in
position.

Cont in pat, keeping cont of Panel Pats,
until 32 rows of Panel Pat C have been
worked twice.

With smaller needles and 1 strand of
yarn, beg with a knit row, work 14 rows
in stocking st. Cast off.

FINISHING
Mark position on each side edge 4 ins
[10 cm] up from cast on edge and 4 ins
[10 cm] down from cast off edge. Fold
Bag in half, matching markers. Sew side
seams from markers to fold.

Fold cast on and cast off edges through
handles and sew in position to last and
first rows of stocking st to secure
handles. 

… a part of your life.
P.O. Box 40 Listowel ON  N4W 3H3

CABLED BAG

STITCH GLOSSARY
Approx = Approximately.
Alt = Alternate.
Beg = Beginning.
C4F = Slip next 2 stitches to cable needle and hold
at front of work. K2, then K2 from cable needle.
C4B = Slip next 2 stitches to cable needle and hold
at back of work. K2, then K2 from cable needle.
Cont = Continue(ity).
K = Knit.
P = Purl.
Pat = Pattern. 
RS = Right side.
St(s) = Stitch(es). 
T3F = Slip next 2 stitches to cable needle and hold
at front of work. P1, then K2 from cable needle.
T3B = Slip next stitch to cable needle and hold at
back of work. K2, then P1 from cable needle.



DIMENSIONS
Approx 16 po [40.5 cm] de large x 8 po
[20.5 cm] de haut en excluant les poignets.

FOURNITURES
Patons Canadiana (100 g/3.5 oz)
ou
Patons Classic Merino Wool
(100 g/3.5 oz)
ou
Patons Decor (100 g/3.5 oz) 2 balls

Une paire d’aig 5 mm (U.S. 8) et 6.5 mm
(U.S. 10½) ou la grosseur requise pour
obtenir la tension. Une paire de poignets
rond de 8 po [20.5 cm] de diamètre. Aig à
torsade.

Modèle fait avec Patons Canadiana
#00104 (Aran)

TENSION
13 m et 17 r = 4 po [10 cm] avec les
grandes aig et 2 brins de fil en point jersey.

INSTRUCTIONS
Panneau du motif A (trav sur 11 m).
1er r: (End de l’ouv). 1 env. T3A. T3D.
T3A. 1 env.
2e et r alt: Tric à l’end les mailles endroit
et tric à l’env les mailles envers tel qu’elles
se présentent.
3e r: 2 env. C4D. 2 env. 2 end. 1 env.
5e r: 1 env. T3D. T3A. T3D. 1 env.
7e r: 1 env. 2 end. 2 env. C4A. 2 env.
8e r: Comme le 2e r.
Ces 8 r forment le panneau du motif A.

Panneau du motif B (trav sur 8 m).
1er r: (End de l’ouv). 8 end.
2e et r alt: Tric à l’end les mailles endroit
et tric à l’env les mailles envers tel qu’elles
se présentent.
3e r: C4A. C4D.
5e r: Comme le 1er r.
7e r: Comme le 3e r.
9e r: Comme le 1er r.
11e r: C4D. C4A.
13e r: Comme le 1er r.
15e r: Comme le 11e r.
16e r: Comme le 2e r.
Ces 16 r forment le panneau du motif B.

Panneau du motif C (trav sur 18 m).
1er r: (End de l’ouv). 1 env. 2 end. 3 env.
2 end. 2 env. 2 end. 3 env. 2 end. 1 env.
2e et r alt: Tric à l’end les mailles endroit
et tric à l’env les mailles envers tel qu’elles
se présentent.
3e r: 1 env. T3A. 2 env. T3A. T3D. 2 env.
T3D. 1 env.
5e r: 2 env. T3A. 2 env. C4A. 2 env. T3D.
2 env.
7e r: 3 env. (T3A. T3D) 2 fois. 3 env.
9e r: 4 env. C4A. 2 env. C4A. 4 env.
11e r: 3 env. (T3D. T3A) 2 fois. 3 env.
13e r: 2 env. T3D. 2 env. C4A. 2 env.
T3A. 2 env.
15e r: 1 env. T3D. 2 env. T3D. T3A. 2 env.
T3A. 1 env.
17e r: Comme le 1er r.
19e r: Comme le 3e r.
21e r: 2 env. T3A. 2 env. C4D. 2 env.
T3D. 2 env.
23e r: Comme le 7e r.
25e r: 4 env. C4D. 2 env. C4D. 4 env.
27e r: Comme le 11e r.
29e r: 2 env. T3D. 2 env. C4D. 2 env.
T3A. 2 env.
31e r: Comme le 15e r.
32e r: Comme le 2 r.
Ces 32 r forment le panneau du motif C.

SAC
Avec les petites aig et 1 brin de fil, monter
66 m.
En com avec un r tric à l’end, trav 14 r en
point jersey.

Avec les grandes aig, joindre un 2e brin de
fil et trav comme suit:
1er r: (End de l’ouv). 5 end. Trav le 1er r du
paneau du motif A. Trav le 1er r du panneau
du motif B. Trav le 1er r du panneau du motif
C. Trav le 1er r du panneau du motif B. Trav
le 1er r du panneau du motif A. 5 end.
2e r: 1 end. (1 env. 1 end) 2 fois. Trav le
2e r du panneau du motif A. Trav le 2e r du

panneau du motif B. Trav le 2e r du
panneau du motif C. Trav le 2e r du
panneau du motif B. Trav le 2e r du
panneau du motif A. (1 end. 1 env) 2 fois.
1 end.
3e r: 1 end. (1 env. 1 end) 2 fois. Trav le
3e r du panneau du motif A. Trav le 3e r du
panneau du motif B. Trav le 3e r du
panneau du motif C. Trav le 3e r du
panneau du motif B. Trav le 3e r du
panneau du motif A. (1 end. 1 env) 2 fois.
1 end.
Les 2 dern r forment le motif de point de riz
de chaque côté. Panneaux des motifs A, B
et C sont maintenant en position.

Cont en motif en cont les panneaux des
motifs jsq 32 r du panneau du motif C ont
été trav 2 fois.

Avec les petites aig et 1 brin de fil, en com
avec un r tric à l'end, trav 14 r en point
jersey. Rab."

FINITION
Marquer la position sur chaque côté à 4 po
[10 cm] au dessus du bord monter et 4 po
[10 cm] du bord rab. Plier le sac en deux en
ayant les repè res en vis-à-vis. Faire la
couture des côtés à partir des repères jsq pli.

Plier le bord monter et le bord rab au
travers les poignets et coudre en position au
1er et au dern r du point jersey pour
sécuriser les poignets. 
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SAC À TORSADES

GLOSSAIRE DES POINTS 
approx = approximativement.
alt = alternatif.
com = commencer.
C4A = Glisser les 2 m suiv sur une aig à torsade
et laisser devant l’ouv. 2 end, puis 2 end de l’aig
à torsade.
C4D = Glisser les 2 m suiv sur une aig à torsade
et laisser derrière l’ouv. 2 end, puis 2 end de l’aig
à torsade.
cont = continuer.
end = tricoter à l’endroit.
env = tricoter à l’envers.
end de l’ouv = endroit de l’ouvrage.
m = maille(s). 
T3A = Glisser les 2 m suiv sur une aig à torsade
et laisser devant l’ouv. 1 env, puis 2 end de l’aig
à torsade.
T3D = Glisser la m suiv sur une aig à torsade et
laisser derrière l’ouv. 2 end, puis 1 env de l’aig à
torsade.


